normalized x?

1072

107

Ratio

Entries
Mean
Std Dev

Entries
Mean
Std Dev

Entries
fean
Std Dev

6 8 10 12 14 16 18 20

[[normalized x? probability ]

Ratio

. Entries
_ | Mean
Std Dev.

oooood

2
X
rg'rrm—mg'rua. ETTOT_TUU0EVT
_orlgma\ 1000evt

_m noc e 1000evi
fit_cpeOK_ 1000evt

[fit_cpeOK_SORTRZ_1000evt

A 5 = S
5 E B E
< 4.5F A A
Il 3 S 3
v E a" E.
3.5¢ S %
3£ v E
2.5F- of--
% -E- 1

Lsf -2k
3 -

0.5 —4E .- : P
o & o =5 i i
T T
T o @

r P
-3 -1 0 2 3
TP n (PCA to beamline)
A5 A2
245 B 18k
<y < 1.6fF-
YV as vV o14F-
1.2F
3 E
I=-
2.5 E
0.8~
2 0.6F
15 0.4F
0.2F
o 05 o O
& 19 &
1. 0.5
10* 100’3 — 1072 107
AR(track, jet?
S
P
- E
2 3k
of E
o 2=
v 1;_
oF : FEHE

£ Sl

B S 1 e

I I

_F i i i
e pLTTe -, 14 15l £ A
@ . N .

2 : I ol :
0.5 - -rmren HEEE M
i : £
107 1




	Contents
	Page 1


